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1. Produce an exponentially smoothed forecast for period 5 when the initial estimate of demand is 70 and actual demands in periods 1 – 4 are 61, 78, 71, 62. Use an exponential smoothing constant of 0.2.
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a. What are the advantages and disadvantages of each of the following forecasting methods: Moving Average, Exponential Smoothing, Winter’s Method?

	
	Moving Average
	Exponential Smoothing
	Winter’s Method

	Advantage
	Simple to calculate
	Simple to calculate
	Good for trends

	Disadvantage
	Doesn’t incorporate trends well
	Doesn’t incorporate trends well
	Complicated to calculate


b. For Winters Forecasting method:

i. 
What is the assumed model of the demand data?

Dt = (B0 + t*G0)st + εt

ii. 
What is the equation used to forecast demand?

Ft,t+τ = (Bt + τ*Gt)*st+τ-N
2. A forecast has errors of -2.0, 0.3, 0.2. The forecast error variance (from past data) is 0.49. Test, using a tracking signal, to see if the forecast is unbiased (use 3 s.d. confidence intervals and a smoothing constant of 0.2).

	
	et
	Et
	Δt
	Yt

	0
	
	0
	0.56
	

	1
	-2
	-0.4
	0.848
	0.472

	2
	0.3
	-0.26
	0.738
	0.352

	3
	0.2
	-0.168
	0.630
	0.267


Range: +/- 0.55*3*(0.2)1/2 = +/- 0.74
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		Period		Demand (Dt)		Exponentially Smoothed Average Formula (St)

		0		70

		1		61		68.20

		2		78		70.16

		3		71		70.33

		4		62		68.66






